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1B BIRE FMERE
LMY | BAME | FAXRE FERE EHIRA | BEAR | #RAME | ZRARE FRE FEHERA
E Y (#1) AH (N TAE (N (%) AH (N (%1) A (N TAE (N (%) AH(N)
ES |23 ES 50 118 96 81. 4 1.92 27 53 41 77. 4 1.52
& & ¥ B 34 80 65 81.3 1.91 15 26 23 88.5 1.53
EE- R 16 38 31 81.6 1.94 12 27 18 66.7 1.50
1 ~ 9 A — — — - - - — — — —
10 ~ 29 A 9 13 12 92.3 1.33 7 10 8 80. 0 1.14
30 ~ 99 A 23 52 42 80. 8 1.83 13 31 22 71.0 1.69
100 ~ 300 A 18 53 42 79.2 2.33 7 12 11 91.7 1.57
(2 £ ) &2 H 1,661 4,081 3,027 74.2 1.82 507 923 793 85.9 1.56
EE BXE (E5%) REZE
XY | BANE | ZAEE FERHE EHIRA | BEAY | #RME | ZRAERE FRE EHIRA
%1 - B (%) AB(N) FAE (N (%) A#(N) (1) A (N FAE (N (%) A (N)
ES J:3 ES 3 4 4 100.0 1.33 28 63 45 71.4 1.61
Ell & E 1 2 2 100.0 2.00 14 31 20 64.5 1.43
FEECEE N 2 2 2 100.0 1.00 14 32 25 78. 1 1.79
1 ~ 9 A — — — — — 1 3 3 100. 0 3.00
10 ~ 29 A — — — — — 5 7 6 85. 7 1.20
30 ~ 99 A 2 3 3 100.0 1.50 13 28 16 57. 1 1.23
100 ~ 300 A 1 1 1 100.0 1.00 9 25 20 80. 0 2.22
(s £ ) &£ H 169 244 218 89.3 1.29 774 1,858 1,498 80. 6 1.94
FIORK BAIEIAFRFEERA-KRRKER (FHR)
b= ERE FRERE
XY | BAME | ZARE FRHE FHIRA | BEAY | BRME | ZRARE FRE FEHIRA
%72 - B (#1) AH (N TAE (N (%) A (N) (1) A (N TAE (N (%) A (N)
& |3 ES 8 14 11 78.6 1.38 3 6 6 100.0 2.00
El & E 5 7 6 85.7 1.20 1 3 3 100.0 3.00
E - 3 7 5 71.4 1. 67 2 3 3 100. 0 1. 50
1 ~ 9 A — — = — — — — — — —
10 ~ 29 A 1 1 1 100. 0 1.00 1 1 1 100.0 1.00
30 ~ 99 A 3 6 5 83.3 1.67 — — — — —
00 ~ 300 A 4 7 5 71.4 1.25 2 5 5 100.0 2.50
(s £ ) £ H 398 709 622 87.7 1. 56 132 181 169 93. 4 1.28
1BE AXE (ERH) KREZE
BEMY | BAME | FAEE FERHE EHIRA | BEAY | #RAME | ZRARE FRE FHERA
%78 - g (#) AH (N TAE (N (%) A# (N (%1) A (N A (N (%) A (N)
ES E E 1 2 2 100. 0 2. 00 19 40 34 85. 0 1.79
E & ES E 1 2 2 100. 0 2. 00 8 15 14 93.3 1.75
k B OB E F — — - — — 11 25 20 80. 0 1.82
1 ~ 9 A — — — - - — — — — —
10 ~ 29 A — — = — — 4 4 4 100.0 1.00
30 ~ 99 A — — — — — 6 10 9 90. 0 1.50
100 ~ 300 A 1 2 2 100. 0 2.00 9 26 21 80. 8 2.33
(2 £ ) &2 H 89 120 113 94. 2 1.27 557 1,237 1,072 86.7 1.92




